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fast (go without food) (not sure !!!, donot affect you adversely)
forage==feed finding flourishing--thriving fragment--break up Gap
(U0 Ogap 00 O OO =opening) Generate I [, I [0 Given
= particular gap hence =therefore harsh =drastic hazard=danger
haul (LJ O, O O )= pull Heightening (L1 O UJ 00 O ) = increasing
hider = interfere ???? (I UJ I hide = conceal) highlight

[1 ) highlight/layer---inner hider-interfere heightening--increasing
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[1 O tailors, butchers and a (host) of trades began to ... hub--center,
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